PRGRNS Calculations with progressiones - Comercial Interest

Progressions - Interest
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In all the cases it's necessary to introduce 3 data (or generate them with the button )
and after pressing Ok the rest of parameters will be calculated.
Any of the parameters can be a data or an unknown, although the n of progresiones only

will be accepted when it has an integer value.

If there are more than 3 values in the textboxes of a case they will be interpreted as data
the 3 to the left, and the other ones will become results.

If you want to invalidate a textbox like a data you must put it in white.



Example
Here are entered as data of an arithmetic progression: a4 (the first term), n (the number of
terms) and a, (that is: as). Unknowns are: the difference (d) and the sum of the n (5) first terms,

S, (here, Ss), that is: the textboxes in white.
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Exercise

In an arithmetic progression: al =4, ab = 25
Calculate: d and 55

Answer

d=65S5=80
Frogression: 4, 10,16, 22, 28, ...




